PLOCE-G03: AGRI UL TURAL ROONOMITS
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Mopge:  Answer any twe guestions Tom Goertion A and any five quesuons from
each (te be apswered in abont GO

serviion B, (Juestions in Scevion A carey 24 mavks
o be answered in aboul

1
wirrds each) and fhese tie Seetion B ocarry 17 marles cach (
330G words each). In the case of pnumerical questions word limits do not apply.

Saction A

oot rtral infrasiruciine protaion . TR e seronomic slowdi

Justits dis statement.

: Pyiscuss Binswanger's expenimieni on risk atitude in agricutre? Elaborate on the
individual levet and community fewel stratevies available for farmer houschotds to
manage risks?

-l employment in Incia. Lxamine

cheir causes and consequences.

Discuss the issue of gender discrimination 'n rut

1 , R T L. . . . . 3 C1tel .
Why o cyclical price movements occur (n ase of agricultuzal commodities?

pxplain with ihe help of the € abwebs theerem.

Section 2

| eredit, discuss the three well established methods of

4y

In the context of agricutiura
credit appraisal. '
0. Lxplain the time-series approach o lorecasting agricultural prices. [fow can Box-
Jenkin s ARINVIA improve the cifivieney ol vour Forecasts”?

vl Smesn] e FA . . E . . qopte
Fresent the formalized derivation for estmediing the price elasticity ol "mal keted
surplus™ proposed by Behrmai. Do you agree that this ig an improvement OVer
the model suggested by Raj Krishna: why'"!

‘e



£ Gaven that: (i) outtput-labour ratic 15 0.5, (45 incremental output-labOT IBTI0 is
- e et 1o N il
G—Lahour ratic is 0 1: “iv} incremental jand-iabous ralin 18 006 and

iand in income is G.75:

:\a,' calculate Solow’s measure of techmical change; and R
: (b) if ratums 1o scale is 1.1, labour usage is 100 unirs and incremental labou
atfected?

J ~ usage is 10 units, will the above measure of technical chznge be

9 Hovwme msttations defined? What role do th63 pla3 n ensurmo gro wih with

? sustainability?

“1a. What is forward trading in agrlcu aral commodities? What is the difference

between ‘hcdgmg andr Sp&,m ation’?
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